| Efficiency vs Dxy |
>.0.02r
<

J_.l.Q_llll;llll;llll;llll;l|||:|||l;llll;llll;llll;llll

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DOM_TT__ORIGINAL
— —e— DQM_TT__MODIFIED_layerProcv2
| Efficiency vs Dz | | . pOM_TT _MODIFIED layerProcv2 windows

—— DQM_TT__MODIFIED_layerProcv2_windows_hits
N 0.05 ; ; ; ;

7R SN NN SRS S S —
% R

Q - : : : : :
c SRR T peeneeeeees A Preeseenteeeeeeees
Q 0'04: : : : : :
Q r : H H . .
$.035 proneerene Froverereees Frrereeeener ARARERRR A
O o : : : : :

0.03Fwvoosoreeeeeees oo oo S e
0.025 : : : :
0.02

D)0 K1 ECTSSROS SUSORSS SPPRRTNS SOIR 1171 NONURS MO
0.01 | .m S SO
0.005 | SRR J S S—

1

Ratio

1.1

1

9362 0 ¢ 0 20 30
TP dz (cm)

0.9



	Contents
	Page 1


